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2. Marks for eva-w part ofquestion arE irdicat€d against it.

Ql. (A) Expnxs thc followirg docirnal numb€6 in (i) BCD code (ii) XS-3 codc
(iii) Cray code (iv) Hexadecirnal ccde (\,) Binary code (vi) Octal Code
a) 286 b) 807

(B) Detect and oorr€ct er.ors, ifany. in the eve? padty hamoring code words
and write the correct code-
a) ll00ll0 b)OOlll0l c)0ltlllO d) l0l0lll

6+4

Q2. (A)Obtain the minimal POS expression u-sing QM method for the follorving: :'5F f,M(U,r,4),9;r l,r J,r1,to,'r t JJI t,z{/)s t ) . 4\zu7L72sv,

(B)what is docod€r? Explain BCD to s€vefl s€gme[t decrd€f in d€tail.

Q3. (A)What is fte limitation of SR flip flop? Canv€rt SR flip flop to JK flip
floP.

(B)Wbat is racc around condition? Explain thc working ofmaster-slave JK-
flip flop.

5+5

o4 (A)What is comparator? Explain the working of4-bit magnitude cornparator.

(B) Reduce using mapping the follou.ing expression and implement dre real

nrinimal expression in universal logic:

F = :flr(0,2.4,6,7,8-10,1 2,1 3,1 5)

5+5

Q5. (A)What is shift rcgster? Enptain its types with thc help ofdiagrarn and

truttrr table6.

(B) Explain Johllsorl Counter B,ith cl(rck pulses.

5+5


